HPJ-340A2 123B12775/6

-
&4510
4800 0115-§

0110 !
0113

g




8154 : HPJ-340A2

EENo. - -
HPJ-340A2 - -

RiiNo. BmI—R LT FREE
0100 121012432  |RG-311VLH1528 * 1
0101 | 30120008050 |- 8X 7X 38 hyu) * 1
0102 | 39134508006 | M4y (Dyhi7H) 2
0103 | 39134508008 |M%y* 2
0110 | 3 B123210110 |7°3yh ** 1
0111 | 3 9101R08080 |#*hh DYAY#Y" 2
0112 | 3 9140R08000 |DYA7HYh M8 4
0113 | 39162508000 |t54°#°% M83f Ik SUS 2
0114 | 39163S08000 |/“##°#°% M8 SUS 2
0115 | 3 B122510150 |7y7°tyhihb MEX16 2
1100 | 3 E53102206420 |t-5-2.2KW IKH3 4P 1
1111 | 39101R08035 |# I+ M8X35 SUS 4
1112 | 3 9154R08000 |UYH 4
1113 | 3B123211113 |t3%'4°% 8.5X22X3 8
3010 | 3 B127713010 |My#n"-R 1
3011 | 3 9101R10020 |+ M10X20 SUS 1
3012 | 39162510000 |t5%°#°% M103p"HIISUS 1
3013 | 39163510000 |A“##°1°% M10 SUS 1
3014 | 39101R10020 |+ M10X20 SUS 1
3015 | 39162510000 |t5%°4°% M103p" IISUS 1
3016 | 39163510000 |A“##"4°% M10 SUS 1
3040 | 3 B123213040 |AyFJ°b-} -345 1
3041 | 3 B127713041 |MyFaN - 1
3042 | 3 9133R04012 | #A° 125" 459+ FF* 2
3100 | 3 B123213100 |#N 9% SW-03C 2.2KW 1
3101 | 39130B04014 |#A°1%5° 2
3102 | 39162B04000 |t34°4°% M4 35 *N 4
3103 | 3 9153B04000 |A7°Uu5 1Yk M4 * 2
3200 | 3 B123213200 |A{yF AR22PL-311M4G 1
3300 | 3 B123213300 |#17°94F VCT-4C-1.25 1
3310 | 3B127713310 |7 {3 1
3320 | 3B123213320 |7-7°Wp3 1
3450 | 3 B12A803500 |/-7°W°3uF AVC-1 1
4260 | 3 G50031943R |/°-3°D50X10MP *** 1
4261 | 3B123214261 |7 -3 1
4270 | 3 B123214270 |79 8- 1
4500 | 30V72205000 |A-35UV-SW 7y0-4"3 1
4600 | 3 B123214600 |$1924Z97°) 1
4610 | 3 B123214610 |$19M75 7°5- 1
4611 | 39203B15028 |OUyy" S-28 2




8154 : HPJ-340A2

EENo. - -
HPJ-340A2 - -

RiiNo. BmI—R LT FREE
4612 | 3 F300003610 |#°ZhYh *N 1
4801 | 3 B122514445 Ly 5h-A297° M 1
4802 | 3B123214802 |A7°UY) #-A8X13.5X250 1
4803 | 3 B320554850 |fi-A 770y 9X10X3CM 1
4804 | 39214A15000 |#-ANUR 94F- 13-15 1
4805 | 30095322920 |3-F/UY7° COT12 1
4806 | 3 B2600048901 |#ry7° *N 1
4810 | 3 B123214810 MM Ly79°7°% 1
4811 | 39201B20011 |OUy»" P-11 1
4820 | 3 B123214820 M- 7 3h9pA 1
4830 | 3 B123214830 |#MM°-¥"7°349+B 1
4831 | 3 9133R04008 |\ I35\ RE595+3° 2
5100 | 3 B123215100 |7U-hA h3-Y% 1
5101 | 3 B127715101 |JL-hB 1
5102 | 3 B123215102 |h5- ** 1
5110 | 3 9101R08025 |i°J+ M8X25 SUS 2
5111 | 3 9140R08000 |DYA73Yh M8 2
5112 | 39162508000 |t34°#°% M83f 3 SUS 4
5113 | 39163508000 |\"##°#°% M8 SUS 2
5120 | 3 B123215120 | 93yTA 1
5121 | 3 9101R06020 |i"I+ M6X20 SUS 1
5122 | 3 B123215130 | UE 54 5% 1
5123 | 39163506000 |N\"#°4°% M6 SUS 1
5150 | 3 B127715150 |7L-h7°34yh SUS304 1
5151 | 3 9133R06020 |#A°J3° A RL5Y4+3° 7% 1
5152 | 39101R10020 | M10X20 SUS 1
5153 | 39162510000 |t3%'#°% M103p FISUS 1
5154 | 39163510000 |M\*##°1°% M10 SUS 1
5160 | 3 B123215160 |AN-f°4p ** 2
5200 | 3 B123215200 |HA- 1
5210 | 3 B123215210 |J7°f° I M6X10 3
5270 | 3 B123215270 |MUF N ** 1
5271 | 3 B140615260 |/7°tYMKT-N1,M6 **N 2
5272 | 3 9101R06035 |i"I+ M6X35 SUS 2
5280 | 3 B123215280 |i-Ahy ** 1
5281 | 3 9140R08000 |DYh73Yh M8 2
5282 | 39162508000 |t34'#"% M8 3 SUS 4
5283 | 3 9150R08000 |0YA77503Yh 2
5284 | 39163508000 |/##°#°% M8 SUS 2
5300 | 3 B127715300 |17 94y 1




8154 : HPJ-340A2

EENo. - -
HPJ-340A2 - -
RiiNo. BmI—R
5301 | 3 9140R06000 |OYAYHYH M6
5302 | 39162506000 |t34°#°% M63f 4 SUS
5303 | 39163S06000 |M\“##°4°% M6 SUS
5810 | 3 B123215800 |IvUs3(H{04ry7° V%)
5820 | 39162520000 |t3%°#°% M203h" IISUS
5821 | 39225520035 |7ty
5850 | 3 B123215850 |yry"y **
5851 | 3 9101R06050 |i"I+ M6X50 SUS
5852 | 39162506000 |t34°#°% M634°$h SUS
5853 | 3 9154R06000 |U#Yh M6 SUS *N
7100 | 3 F3041A0210 |SG50-40 D2.1 SKY (50HZ)
7100 | 3 F3041A0250 |SG50-40 D2.5 SKY (60HZ)
7101 | 3 FOAGNO0021 |#'V,/A°MFY7° D2.1 (50HZ)
7101 | 3 FOAGNO0025 |#'Y,/A°M#Y7° D2.5 (60HZ)
7150 | 3 B1232171501 |MA{ii-x SKN-6-10M
7200 | 3 OXA44H0000 |i-A tYh 3/4X2.7M7"I-
7210 | 3 0XC44H0000 |#-A 73 3/4X2.7M *
7220 | 3 0XA4536210 |A-A90 3/4 40Myy1 *
7500 | 3 B127757500 |3A°h MUY
7501 | 3 9060TE0000 |3A°) 50HZ *N
7501 | 3 9061TEO000 |3A°) 60HZ *N
7510 | 3 B127757510 |3\°) hovF
7520 | 3 B275117520 |5n°) AyF
7530 | 3 BO800175201 |3A°W(/410/0%Y)
7540 | 3 B275117530 |3\°) F14
7570 | 3 B123217570 | ¥-h MMA"
7580 | 3 B123217580 |3A°N 1-3av
8000 3000 A7° 33y
8001 | 3 B123614000 |#-AJ3 M 9Favhy
8002 | 3 GM09180A2000 | FA{fi-A SKN-6-20M
8003 | 3 FOYK22K22B |y 3t
PK 36034CLO6PK  |34CLO6 BUY* OUy»*




